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6 AOTO0ORAULOWIZEIT2FHEHE - FHME (EEH - BHEH) OHB

[{E=Eth]) (BAL %, A./m)
K 4 H26 H27 H28 H29 H30 RiT

EEHER | FHME| EBER | LHEE| TEHE | FIHME| £8HEX | LHME| EBE | Fi9@E|| TeHE | THME
AR AU 1.2 60,200 0.7/ 61,000 2.0| 63,200 2.0 6b, 300 2.3| 67,600 4.0| 72,900
#AE 0.7 60,100 1.4/ 61,300 2.1 64,500 2.1 66,400 3.9/ 71, 100|| 6.1| 74,400
W AV A 2.1 40,800] A 1.6| 40,300 A 1.1 40,200 A 0.6/ 40,0000 A 0.5 39, 800" A 0.3 39700
A% | A 1.9 34,800 A 1.8 34400 A 1.6/ 34,100 A 1.3] 33,900 A 1.2| 33 400|| A 0.9 32600
N AV A 2.3 16,2000 A 23] 16,000f A 1.7| 15800 A 1.2, 15800 A 0.9 15,700" A 0.6/ 15800
& | A 1.8 19,300 A 21| 19,000 A 2.2/ 18600| A 1.6/ 18400 A 1.4 18,300" A 0.8 18500
i I AV A 1.2| 20,300] A 0.8/ 20,200f A 0.7/ 20,200f A 0.4/ 20,100] A 0.4 20, 100" A 0.4 20,100
ez | A 1.2] 21,300 A 0.9 21,200 A 0.5/ 21,700| A 0.3] 21,700| A 0.2| 22 100|| A 0.2 22000
gl B AV A 1.4] 16,900| A 0.5 16,800 A 0.3 16,800 A 0.1| 17,600 A 0.1 17,600" A 0.2 17,600
Mz | A 1.3] 15700 A 0.5/ 15600/ A 0.3| 15, 600 0.0/ 15,600 A 0.2| 15, 600" A 0.3 15800
= AV A 0.4 23800 A 071 23800 0.0| 23,800/ A 0.1 23,800 0.2] 23, 900" .10 24,100
Mz | A0 1] 23400 0.0 23,400 0.1 24,700 0.5 24,800 0.9 25, 100|| 2.7 25,800
it B AV A 26| 15100 A 2.0| 14,900 A 1.1| 14,800 A 0.4 14,700| A 0.2 14,700" A 0.4 14700
Mz | A 32| 15400 A 2.2 15100/ A 1.3| 15000 A 1.0| 14,900 A 0.9 14, 800|| A 0.9 14700
Ty AV A 20/ 16,9000 A 1.9 16,600f A 2.0/ 16,600 A 1.9/ 16,300 A 1.8 16,000" A 1.6/ 15800
Mz | A 1.9] 20,600 A 2.1| 20,200 A 2.0/ 19,900 A 2.2| 19,500, A 1.6/ 20 000|| A 1.3 20 400
TRl AV A 1.5 26,7000 A 1.5| 26,400 A 1.3 26,100 A 0.9/ 25 700 A 0.4 25 700" 0.1 25,800
Mz | A 1.5] 25600 A 1.5 25300 A 1.6| 25000 A 0.7| 24900 A 0.6/ 24 900|| 0.9 26,700
2 & AV A 1.0/ 31,0000 A 1.0/ 31,100] A 0.5] 32,100 A 0.3] 32 600 0.0/ 33, 400" 0.7| 35,100
Mz | A 21| 18,100 A 1.9 18,000 A 1.7/ 18,300 A 1.4/ 18,800, A 1.0 19,000|| A 0.5 19 200

(GEE 1)) (B4 %, A./m)

K 4 H26 H27 H28 H29 H30 RiT
EENR | PIME| EBER | FHEE| TEHE | FIHME| £BER | FLHME| EBE | FiHME|| TR | THME
AR NG 1.6| 176,100 1.5| 181, 000 6.0 196, 000 6. 1| 216, 700 7.4 242,100 8.8| 278,500
HAE 1.0 212,100 2.6] 221,500 7.3| 246, 600 8.7| 282,100 0.0] 327, 500" 11.0| 367, 200
W /AVN A 2.3 68300 A 1.2 67,6000 A 0.6/ 67 300[ A 0.3] 67 200 0.3] 67, 400" 1.1 68,500
HAE A 25 61,4000 A 1.4 60,600f A 0.9] 60,100 A 0.4] 59 900 1.3 61, 200" 1.8 62,500
N /AVN A 1.6/ 72,0000 A 1.1 71,200 A 0.6 70,900 0.6 71,700 1.2 73 100" 2.5 75,500
HAE A 2.9 36,4000 A 24| 35500 A 1.8/ 35200 A 1.5 40,400 A 0.1 41, 400" 5.4| 46, 400
8 I /AVN A 1.6/ 52800 A 0.5 52600 0.0| 53,000 a 0.1 53 000 0.0] 53, 000" 0.0 53,000
HAE A 1.1 63300] A 0.5 63100 A 0.2 62500 0.0| 62, 500 0.0/ 67, 300" 0.0| 67,300
gl B /AVN A 1.5 366000 A 0.5 36400, A 0.6/ 36100 A 0.2| 35 200 0.1] 35, 000" 0.1 35,600
HAE A 0.4) 40,400, A 0.3| 40,200 0.3| 40,300 0.2| 40, 400 0.0 41, 300" 0.0| 41,800
= & /AVN A 1.1 50,6000 A 0.6/ 50200 A 0.5 49,900 A 0.7/ 49,500 A 0.5 49, 100" A 0.2 49000
FAE A 0.8/ 46,900f A 0.5| 46,600[ A 0.4| 46,400 A 0.5/ 46,0000 A 0.2 45, 800" 0.6| 50,100
P 2R | A 55| 44,900 A 41| 43,100 A 3.4/ 352300 A 1.9 34,700 A 1.4 34 200|| A 1.0/ 33900
FAE A 5 8 331000 A 4.0] 31,900 A 2.7/ 31,200 A 1.6/ 30,800, A 1.5 30, 400" A 0.8 30 200
S 2% | A 2.9 30,600 A 24| 20700 A 22| 29,900 A 1.9/ 29,700 A 1.6/ 29 200|| A 1.4] 28800
FAE A 34| 386000 A 26| 37,400 A 2.1 36,400 A 1.9/ 356000 A 1.5 35 100" A 1.4 34500
. 2 | A 2.5 34400 A 1.3| 34,0000 A 1.7| 33,100] A 1.1| 36,700 A 0.4 36, 700|| 0.0/ 37,800
FE A 2.1 37,3000 A 1.4] 36900, A 1.2| 36,500f A 0.3] 36,500 0.3] 36, 700" 1.7 37,400
s m 2% | A 1.3 95100 A 0.9 96 600 1.2| 102, 900 1.5| 110, 800 2.3 121,200" 3.2| 136, 200
HAE A 2.8 57,7000 A 21| 58900 A 1.0/ 62800 A 0.5 68, 800 0.1 78, 200" 0.7| 83,700
GE) 1 KO0 TR FHEAR. TFAE] FdsEthEREETH 5.

GE) 2 MEHEEE] &, MGEEE (B2E) thT L OMEONIMFEEBEDO ST E LRITEMBTIRLTERO LD THY.

(MR ] &k, B (BE) MSENTEHA—MLYEY OMBOETELUREE (BE) HTHRLTROELD
THdr=H., TFHEE] 2L EICEBEREZEHL T TEHEFHER] LE—HLAEL,
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7 TRHETAR - FRpl B - FHEBK - FHME
£ = CERE: + A #
WEEHE | (@ o Toze| Tome | 06 |8 6| ToZn Toms | gn |8 6 72D Tomk
s mam | EK | (F/m) | Am e R0 | (A/m) | AE | eam| EW | (R/m)

hRK 6 6 75| 143,000 9 8 16.9| 1,117,800 15 14 12.8) 727,900
i X 16 15 6.5 59,000 5 4 14.7) 480,600 21 19 8.2| 159,400
K 10 10 7.0 78,700 6 6 8.8/ 110,000 16 16 1.7 90,400
BAK 6 5 8.3 81,800 4 4 11.8] 143,800 11 10 9.3 99,900
2TX 9 9 6.0/ 105900 4 4 11.7) 203,000 13 13 77| 135800
B X " 10 2.1 52,000 3 3 7.4 111,500 14 13 3.4 64,700
X 9 9 5.7 90,400 5 5 9.2| 165,000 15 15 6.5/ 110,900
E 3l X 9 9 7.8 69,700 3 3 11.2] 133,200 12 12 8.6 85,600
F MK 9 9 6.4 49,600 3 3 75 74,300 12 12 6.7 55,800
B H X 8 8 55 53,300 3 3 2.9 77,700 11 " 48 59,900
AL 5t 93 90 6.1 74,400 45 43 11.0) 367,200 140 135 76| 167,900
S ER™ 3 3 AT 2,500 1 1| A95 3.800 4 4 AT7 2,800
BRR® 14 14 A 35 9,000 2 2 0.0 28,800 17 17 A 31 10,900
e 3 3] A79 4,600 1 - - 9,200 4 3] A79 5,700
= Bl 3 3] A60 5,300 1 1 Ab5 6,900 4 4 ADbL9 5,700
7”EH 3 3| AbS8 3,900 1 1| A56 6,700 4 4 A58 4,600
=% 3 3| A31 3,000 1 1 A0 6,600 4 4 A 41 3,900
&I 5 5/ A 27 9,000 1 11 A07 14,700 6 6| A24 10,000
Wl ® 3 3 A42 9,100 1 1 A 45 10,500 4 4 A 43 9,500
FEANT 3 3| A42 2,300 1 1| A37 2,600 4 4 A 41 2,400
RN 3 3 AT1 6,800 1 1 A5 9,800 4 4 A7T2 7,600
g 1R ET 3 3] A35 5,800 1 - - 8,700 4 3| A35 6,500
RIFITHT 3 3| ADb9 5,400 1 1 A 79 7,000 4 4 A64 5,800
EBD)IET 3 3| A42 1,900 1 1| A46 3,100 4 4 A 43 2,200
2= i) 3 3| A22 5,000 1 1 Ab57 6,600 4 4 A 31 5,400
& A HEH 3 3 A09 11,000 1 11 A30 13,000 4 4 A4 11,500
CITg) 3 3| A31 9,500 1 1 A 09 11,300 4 4 A 26 10,000
A % BT 3 3 A27 4,700 1 11 AGT 7,700 4 4 A 35 5,500
I ETET 2 2| ADb6 2,500 1 1 A 65 3,600 3 3| ADb9 2,900
)18y 3 3| A30 6,600 1 11 A30 6,500 4 4 A 30 6,600
BRE AHHT 3 3| A72 4,900 1 1 A 92 6,900 4 4 AT7 5,400
A2 Bl T 2 2| Ab5 4,300 1 11 AG67 5,600 3 3] ADb9 4,700
% AT 2 2| A31 3,200 1 1 A 37 3,900 3 3| A33 3,400
it &= &y 2 2| A42 2,400 1 11 A28 3,500 3 3| A37 2,700
78 H AT 3 3| A77 4,900 1 1 A 89 7,200 4 4 A 80 5,500
?E%S‘g 81 81 A 44 6,000 25 23] A 49 8,900 107 105 A 45 6,700
gyl 12 12 0.9 26,700 5 5 1.7 37,400 17 17 1.1 29,800
T 8 8 7.8 35,700 3 3 11.2 44,300 12 12 8.0 35,400
BEM 7 7 2.8 21,600 2 2 4.6 32,000 10 10 3.2 22,300
ElN_L i 6 6 4.7 24,800 2 2 4.4 34,800 9 9 5.7 25,900
AR 6 6| A16 12,300 2 2 1.1 28,400 8 8 A10 16,300
= 5l fr 3 3| ADbS8 8,200 1 1 A5 14,800 4 4 AB2 9,900
GREE0) 2 2| AG66 4,300 2 2| AG6 4,300
BRHRELS 44 44 1.8 23,000 15 15 3.7 35,000 62 62 25 25,300
N8 15 15 A 08 18,500 4 4 5.4 46,400 20 20 05 23,800
B % 2 2| A13 3,900 2 2| A13 3,900
& B mr 3 3| A12 5,300 1 1| A25 11,700 4 4 A 15 6,900
RHAPIET 2 2| A17 3,700 1 1 A 21 9,500 3 3] A18 5,600
i AT 3 3| AO08 7,500 1 1| A3 15,400 4 4 A 14 9,400




S R ¢ @ #
PEEHE | | m s | Tozn| Tome | gn |8 5| TOZH| TOMEE | G |8 6 THZH) TomE
R Ak k%) | A/ | A% [wak ] =6 | @/m) | R | was x=®) | (F/m)

—am 3] 3] 128 12500 | 1] 106 19800] 4 4] 123 14400
R H 2] 2| oo 4200 o 2] 00| 4200
A 2| 2] a4l 3700 2| 2] a4l 3700
Bl o 2] a22] so00| 1] at19] 10600 3 3 a21 6900
5 4 7 s 3 a9 ss00[ 1 1| at12] soo0| 4 4 a8 s100
BAZAT s 3] 547 42000] i 1| e67) 75000 4 4] 577 50300
L s 3 a21] 6900 1| 00| 90| 4 4 ai1s 7600
L 3] 3] ao0s o100 i 1| as3 1a200] 4 4] a20 10400
R | 2] a1l 3200 o 2] a1l 3200
AR 2| 2| a27] 3100 2| 2] a27] 3100
ChLL o 2] a24] sac| 1] a23] 8s00] 3 3 a23 6400
& F s s aes 4s00] 1| a74 e300 4 4] as69 5200
£ s s a22] 6900 1| a36] 13500 4 4] A28 8500
YL 3] 3 asg o900 i 1| ase 19500 4 4] a39 12300
A 22l oo 3100 o 2l ool 3100
fEss 63| 63 17| 10800 17 17| 39| 24000| 81| 81| 21 13600

EE 5 . . !
=M b 0] 10| A21] 17600 38 3] A20] 38500] 14 14| A 21 21400
EINE 7] 17 a13] 20400 5| 5| a4 34500 23] 23] a 13 23200
e 5 5| ao0s 18g00] 1 1| ao0s 38000 6 6 05 22100
o s 3] ao09] 19900 1| a30] 26200 4 4] a14] 21500
'YL 3 s a42] 7200 1| as5s 15400 4 4] a45 9200
t % A o 2] as1] sso0] 1| a37] 10400 3 3| ass 7000
M % A s 3 ass 7900 1| ae6 7100 4 4 a41] 7700
EL s 8] a42] 5200 1| a42] 11300 4 4] a42] 6700
A s 3 as2 %00 1| a21] 6800] 4 4 a29 16600
% s s as1] 6700 1| a47] 120000 4 4] as0 8100
LADET s s a47] 8300 1| as53 12600 4 4] a49] 9300
e 55| 55| A24 15000 17 17| A 29| 26900| 74| 74| A 24 17600
L s 3 4a23 4000] | 1] A48 20000 4 4 429 8000
L s 3 a24] 2700 1| a20] s8400| 4 4| a25 4200
% 7 & s 8] a4 7100 1| a20] 10000 4 4 a1s 7800
o T s 3] A28 11so0] 1| a33 17400 4 4] as0 13200
B L T s 3] a43 7000 1| a40] 14400 4 4] a42] 8800
ZY AT s 3 aso soo0] 1| aa1| 15500 4 4| a30 9900
0L 44 A28 13500 1| as55 250000 5| 5| a33 16000
amm®ES | 22| 22| a27) sooo| 7 7| 38 15900 20| 29| A30 9900
H 8 7] 17] a09] 32600 9] 9] 18] 62500 27| 27| AO1] 4180
* 3 % s 3 ao02] 27500 1| a03 53000 4 4 ao02 29400
NE s 3] a40 seo0| 1| a44] 25800 4 4] a41 12900
BB s s ass|  s200[ 1| ast| 11200 4 4] ass] 8900
£0 P9 BT s 3 A28  s400[ 1 1| ao0s 11800 4 4 a23 7000
AEPIAT s s as1] 10200 1 1| a22] 13100 4 4 a29 10900
+ 85 A 4 4 ao7] eg00[ 1| a04] 24100 5| 5| ao0s 18400
# % A s 2] a9 sgo0[ 1| a20] 9700 4 3] ai19] 6800
& m s 3] a28 7800 1| a42] 16000 4 4 a32] 9800
NE s s asal 1900 1| a27] 28400 4 4] a33 16100
B s 3 aso 00 1| aa7] 10200 4 4] ass 7100
RS 48| 47) at19] 18700| 19| 19| a0 39400 68 67| A 16 24400
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S R ¢ m %
PEEAE | g | Tozm| T | G |9 6| TOED| TomeE | G |8 6 TOTD| Tioms
A [ | =W | (A/m) | A% mAk| =W | (B/m) | A% BAK] E% | (B/m)

TEm s 3 as0 10700 1 1| a49 25500 4 4] 50 14400
/@ 3 3] a40 e400] 1 1| a3s 10700 4 4] a3s 7500
T REBHT s 3| ass 7500 1 1| a44 152000 4 4] a3s 9400
Z & B 3 3| a6 7900 1 1| ase] 12300 4 4] a44 9000
AR 2] 1| a22 seo0| 1 1| a23 17300 3 2| a23 9500
5&m 3] 3] a20 9so0| 1 1| a21 1s700] 4 4] a21 10800
7 s3] a20] 7400 1| a22 132000 4 4] a27] 8900
muEeEs | 20 19| a36 8ooo| 7 7| A33 15400 27 26| A35 9900
eIl 28] 28] 402 220000 12| 12| 00| 67300 41| 41| AO01] 34900
£ ® s 3| a21 si00] 1 1| a18 16400 4 4] a20 10200
i 4 4] a0 10100 i 1| 00 22500 5| 5 a08 12600
EEH® 3] 3] 23 1ss00] i 1| 00| 4e000| 4 4 17| 25400
1 A7 3. 3 at1s 11200 i 1| a2z 13300] 4 4] at9 11800
HREAT s 3| a10 13500 1 1| a13 14900 4 4] at1 13900
g BT s 3 a8 720 1] - - 11so0] 4] 3] a8 8200
K 7 B s 3| a42 se00] 1 1| a28 7000 4 4] a3s 5900
£ 51 i 2. 2| asi1 a0 i 1| a42] eso0] 3 3] a3s 5400
I s 3] a2s  ato0] 1| a41 7000 4 4] a29 4100
%Il By 3. 3 oo tioof 1] - - 1esoo] 4 3] 00 13300
£mm s 3| ao04 10200 1 1| a1s5 13500 4 4] ao07 11000
EHREHA 3. 3 a27 10200 i 1| a23 13000 4 4] a26 10900
R REAT s 3| ao02 7400 1 1| 00 10800] 4 4] ao1 8200
AEEH 2| 2| as7 2200 1 1| a11] 4400 3 3] a28 3000
& 7 i 2| 2| a9 2800 2| 2| at19] 2800
L s 3| at11 420 i 1| a30] 9600 4 4] a1 550
L s 3| a28 2000 1 1| a41  a700] 4 4] as2 3300
E 3] 3 00 2500 i 1| 00| 4100 4 4 00 2900
£Rm s 3| as1  as00] 1 1| as50 5800 4 4] as51 3900
ERTRH 2| 2| a26] 1500 2| 2| a28] 1500
% Il BT o 2] as3 2300 1| as5s] 4300 3 3 a53 2900
R INPIAT 2 2 a268 1900 1 1| a19 2600 3 3] a23 2100
£ 89| 89| a13 11700| 32 30| A 14| 32700| 122| 120 A 13 17,200
FELS 3] 3] 46 9800] | [ a32 14900] 4 4] 443 11100
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SRR 3] 3| a28 4500 1 1| a3e] 10700 4 4] a30 6000
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317 AT 3] 3 a3sg] ssoo| 1| a49] 9soo] 4] 4] a42] 6800
BF 2 2| as2  4000] i 1| as52 7300 3 3 A58 5100
{f = RIAT 3] 3 a8 4500 1| a24] 82000 4] 4] a20 5400
B 4 4] ao0s  ss00] i 1| a10 19600 5| 5 06 10700
% 3 A7 4 4 a22] 3s00] 1| as9] 7400 5| 5| a25 4200
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# Ay 3] 3] a22] as00| 1| a25] 7700 4] 4] a23 5300
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# L m 6] 16| 27| 25800 5 5 06 50100] 22] 22] 22| 30600
L 4 4 24] 20800 1 1| 00 sago0] 5| 5 19 23600
L s 3] ao07 7300 1 1| a4 14600 4 4] a17 9200
iR 3] 3] ao0s 4900 i 1| as50 13300 4 4 a17 7000
B 36 AT s 3] 00 4goo| i 1| a1s 10800 4 4] a0s5 6300
L 3] 3] ao04 7500 1 1| a10 9e00| 4 4 a0s 8000
% K BT 3] 3 00 5200 1 1| as9 122000 4 4] a10 7000
FEm 3. 3] ao02 1esoof 1 1| a47) 24500 4 4] a13 18700
AL 2 2 oo] 7500 2| 2| 00| 7500
= 5 2. 2| ao07  e700 2| 2| ao07] 6700
L 3] 3] ao0s 400 1 1] a3s| 102000 4 4] a14 6600
I & AT 3. 3 a1 7100 i 1| a41 9300 4 4] a24 7600
# 3 A7 4 4] ao0s 1700f i 1| a34 14000 5| 5] a1l 12100
o B AT 3. 3 a17 s900] i 1| a43  soo0| 4 4] a24 6700
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RTT 146]  166] 431] 743 65 38]  146] 249] 215] 210] 582] 1,007
el H30 128]  173] 456] 757 59 44]  156] 259] 190] 226/ 621] 1,037
H29 100/ 183] 487] 770 50 471 169] 266] 152] 238] 669] 1,059
RTT 1 2 78 81 0 2 21 23 1 4] 100] 105
g &1 [ H30 0 3 78 81 0 1 24 25 0 40 103] 107
H29 0 1 80 81 0 0 28 28 0 11 109] 110
5 = | RET 29 5 10 44 11 3 1 15 42 9 11 62
(#L4&7 | H30 15 17 14 46 7 5 3 15 23 25 17 65
EFR<) | H29 7 17 23 47 5 4 6 15 13 22 32 67
RTT 9 5 49 63 4 1 12 17 13 7 61 81
#% = | H30 7 7 47 61 3 0 14 17 10 7 62 79
H29 6 5 51 62 2 1 14 17 8 6 66 80
RTT 1 11 43 55 0 1 16 17 1 13 60 74
iz} & | H30 1 8 49 58 0 1 16 17 1 9 70 80
H29 0 10 53 63 0 1 17 18 0 11 75 86
RTT 0 1 21 22 0 0 7 7 0 1 28 29
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H29 0 0 21 21 0 0 7 7 0 0 28 28
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+ B | H30 14 27 28 69 0 6 15 21 15 33 43 91
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H29 5 26 6 37 1 8 4 13 6 35 10 51
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B = [ H30 3 8 5 16 0 1 3 4 3 10 8 21
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RTT 80 8 2 90 43 0 0 43[ 124 9 2] 135
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) H29 71 26 6 103 41 4 0 450 112 32 6 150
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8w RTT 15 77| 308] 400 3 5[ 115] 123 18 82| 423|523
(1aagray) | 130 13 711 316] 400 2 5[ 119] 126 15 76| 435|526
H29 1 56| 328] 395 2 6| 120/ 128 13 62| 448] 523
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